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Snggested Answers

Answer toquirements are provided for the reference of students and teachers only. They should not be
freated as model answers.

The cxamination emphasises the testing of understanding, the practical application of knowledge and the
use of processing skills. Candidates are advised to study this document in conjunction with the
examminct 's cormments on candidates’ performance in this boeklet,

In guestions asking for a special mimber of reasons or examples etc. to be given and a candidate gives more
than that is required, the surplus answers will not be marked. For exarmple, in a question asking for two
examples to be given and three are given by a candidate, then onty the fivst two answers will be marked.

Paper 1

(b)

()

2. (a)

(b)

(3]

(d)

(1
(i1)

(1)
(it}

beld, underline, italics, font size, font colonr, font Lype (any rwo}

Mark/Select the title and select the character formatting feature

It may not align properly (neatly/idily/vertically) due to inappropriate fonts.
Tab 7 {7 B4/ 42 B /Bk 4% /A0, columns § , text box, table/iabling (any twa)
Adv:  The size of the email is smailer.
It is safer to open an email without any attachment. (risk of virus infection)
No word processor (software) is required to open.
It is faster to upload/download the email.
(any ogej

Disadv: The original formatting features will be lost (changed).

modem 38 F1 & 54 25 /58 A 2% /19 08

communication software / dialup software 8 A B (/38 57 & 4/ 188 W i
Neiwork B has lower data transfer rate.

Netwark B is less secure.

Employees: As they nced not go to the office to work, it saves time/money on travel.
{flexible time/comforiable environment)

Employers: As they will be less office space requirement, the company can save money 1o reat
the office. (saving resources) ; -

10 % 2%” % 8 hits ~ 60 seconds (320s& 53.3s)  (1.875 MB & 11.25 MB)
= 1,398,101 byps or 1.4 Mbps
Thus, 1.5 Mbps is required,

*pL By AR E AR A
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(b)

(c)

4. {a)

(b

5 (a) (i) A:
Gi) B:

(b} {i} bitpatternof p # q :

Address 1101 | Address 110 | Address 1111 | Accumulator
1 1 6 0
i 1 6 1
1 3 6 2
2 1 6 2
2 1 & 2
> i 5 T
2 o3 3 3
2 3 A 3
2 3 4 4
Address 1101 | Address 1110 | Address 1111 | Aceumulator
1 pass 2 3 4 4
2" pass 8 2 2
3% pass 0 0
21
Adv.:  There is no need to exchange coins for each transaction.
It reduces the chance of theft. '
{any one)
Disadv.: Cost on purchasing/opesating the smart card system is needed.
{i) UnitA is Control Unit (CU), JEHIFE 4+
Unit B is Arithmetic and Logic Unit (ALU). 5 9 B 8 88 &5 °F (4
Unit B is used to perform the arithmetic and logic operations {calculation).
(i) 2* or 2%

(ii) ROM is non-volatile. 3 5 41/ FEHE T £ F R E M

It avoids users modifying the operating system.

(iv) RAM holds the balance of the transaction/payment.
RAM supports (read and) write access.
RAM holds user/stadent program and data.

(any one)

{wrong answer: RAM is volatile)

the character:

(ii) 01G0 0000

(iii) 1311

1111

0100 0001
0100 0010

@

0100 0000
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7.

(<)

bitpattem of p # g : 0000 0100

the integer: 4

Line Number Program Statement

310 classno := copyl(datal[countl, 2Y;
320 if {class=inpclass} and (classno=inpno) Lhen
350 if position > 0 then
or <» 390 data [position] := copyldata{position], 1, 6} + newno;
400 rewrite(datafite}; \ :
410 for 1 := 1 to count do
420 writeln(datafile, datal[il)}; inpclass+' "+inpno+’ !
435 if position = 0 then
440 writeln('No such record!'}
445 else
Alternative:
425 writeln('Record has been modified successfully.');
430 end else
450 L——F—jor add to 440
between 420 and 430
(a) (i) ONE
(i) BAR
i(b) Input the encrypted text inlo the program )
o shift
Modify the code segment as follows:
QOriginal version Modified version \
tmp i- ord{InStr[i]) + shift: [tmp := ord(InStr(il}) - LEL
if btmp > 90 then tmp := tmp — 26;[1f tmp < 65 then tmp := tmp + 267
{c) A Text
B Filename
C Length{InStr;
D Freg[InSLr[i]] + 1
E Freqfec] » Fregimax]
{d) Letter ‘E" is not the only most frequent lctter because

- there may be more than 1 highest frequent letter

- the passage contains too many abbreviations &5 % or special terms

- the passage is not long enough
(any two}
{other reasonable answers)
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repcat
until

(a)

(b)

()

var n, i : integer; f, result : real ;

Begin
i =1 reffff,if~94‘ﬂ—""“"—— read(n);
readln(n} ;
—— whila i <= n do read(£);

begin e
readln(£) ;

if (1 <> 1) and (i <> n) than

result := result + 2 * £
else :::},__
result := result + f;

i o= 31 + 1; f + f

ernd;
result := rasult / 27« =
writeln(result:0:2}; | DIV * |

End. -
1 optional

procedure removespr

begin
nospace = '';
faor i := 1 to length({inp) do looping
if inp[i] <> ' ' then check space {a-z, A-Z)
nospaceN:;= nospace + inp[i] concatenation
end; \\\\\\
copy { iT‘ap r L r 1}
procedure uppcr; ffom 91 to 96
begin
for i := 1 to length({nospagé) do looping
if ord(nospace(i]) >= 97, then check small cap

nospace (1] :=\chr [ord{nespace(i]} - 32) change to cap
end; 3
nospace[i] »="a’

procedure test({var x : boolean};

be;glfi a; DIV 2 okjor some cases
for 1 = 1 to length(nospace{/;:___
begin
if nospace[i]l <> nospace [length (nospace)~3) then
x := false;
Jor= 3 + 1
cnd
end;
% :=x and (nospace[i] = naspace [length(nospace}-i+1])
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10. (a) (i) SID or  student mumber

(b)
(c)

(d)

(€

(1)

Tt can handle leading zero(s).

(ifi) It can save storage space.

(i)

(i)

It can save time on data entry.

It can ré_duce erTors on data entry.

The data in the system will not be affected by the change of the subject names.
{any two)

Tt is flexible (o increase more subjccts. / It is easy to create queries for subject information.

It cannot slimminate all typing errors,  (Not a complete solution)
Tt spends mote time on data entry process. (more resources needed}

Step 1: Eliminatc unnecessary entries (Name, Sex, Email address).

Step 2: Tn addition, create small boxes for students to fill in to represent the data they input and
students are no longer to write aiphabets on the sheet.

Step 3: Put all the registration sheets on an optical mark reader machine / OMR /
M EE s R E TN AH Y (scannmer with suitable software) to scan and
cotlect the data.

1. Invalid data (e.g. subject code) are marked on the sheet.
2. Some important data {e.g. student number} are left empty.

He should not publish students’ addresses and contact telephane numbers so as to preserve the
data privacy.

He should arrange students to check their personal data privately.

Or he can just show the SID instead of name for students to check their own informatiots.

Effective communication:

Relevance o/ 1/ 2
Language/Style o/ 17/ 2
correct and
appropriate

o/1/2 /374
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Paper 2

i
Question No.
1.

hoR W

CCRC

=

12.
13.
14.
15,

17.
18.
19.
20.

21
22.
23
24,
25,

i OBEAREBENEHE -

ER
Key
A(38)
D(62)
A (8]
D {63}
C(n)

B (54)
B (56)
C(81)
B (74)
C (68)

C (83)
B (71)
A(61)
C(79)
C (69)

D (53)
A(64)
D (92)
B(54)
C (75)

D (56)
A(63)
A(43)
A(59)
C(63)

"
Question No.
26.

27
28,

29.

30.

31.
32,
33,
34
35,

36
3%
38.
30,
40.

41.
42,
43,
44.
45.

46.
47.
438.
49,
50.

BEx
Key
A(61)
D(54)
D37
C(72)
A(BD)

C(58)
D (56)
B (50)
A (5D
B (84)

A(64)
A(39)
C(71)
A(52)
B(27)

B (71)
B (71}
C (52)
D (60)
B (46)

D76}
B (58)
C(54)
D (51
B (45)

Note:  Figures in brackets indicale the percentages of candidates chonsing the correct anywers.
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by {1}
(i)
(iii)
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